
Learning the 9 Times Table

the Easy Way! 

What patterns can you see?

The number of nines is one more than the

number of tens in the answer.

So, for 9 × 6 we know that the number of tens is one

less than 6 (5) and we know that the tens and the

ones add to make nine (4) so the answer must be

54! If you know your bonds to nine then the nine

times table is easy!! This is why the hand trick

works! 

The tens and ones add to make nine. 



1  x 9
2 x 9
3 x 9
4  x 9
5  x 9
6 x 9
7  x 9
8  x 9
9 x 9

10  x 9
1 1  x 9
12  x 9
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T h e  H a n d  T r i c k

O p e n  b o t h  h a n d s ,  p a l m s  f a c i n g  t o w a r d s  y o u  s o

y o u  c a n  s e e  a l l  t e n  d i g i t s  ( f i n g e r s  a n d  t h u m b s ) .

T o  w o r k  o u t  9  ×  5  p u t  d o w n  y o u r  5 t h  d i g i t .  

Y o u  n o w  h a v e  9  d i g i t s  u p  -  4  d i g i t s  t o  t h e  l e f t

( 4  t e n s ,  o n e  l e s s  t h a n  t h e  n u m b e r  o f  n i n e s )  a n d

5  d i g i t s  t o  t h e  r i g h t  ( n u m b e r  o f  o n e s  t o  m a k e

9 ) .  A n s w e r  =  4 5

9
18
27

36
45
54
63
72
81
90
99
108


